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The examinees can answer the following questions in either English or Chinese.

1. In fast speech, and in ‘Jack and Kate’ can be pronounced as a syllabic velar nasal.
List the phonological rules involved, specify individual phonological or phonetic
motivations behind, and argue whether rule ordering is necessary to achieve the
phonetic output. 30%

2. The underlined part in sign and gnaw on the one side and signature and diagnose
on the other is pronounced differently. Specify the determining factor for diversity
and explain in further detail why g in sign and gnaw shall be silent. Also
exemplify at least two other phenomena in any languages conditioned by the same
phonological domain. 30%

3. Explain how decivilization is morphologlcally created using tree diagram, and
compare and contrast de- in English and 2 in Chmese through as much

supporting evidence as you can thmk of. 30%

4. Draw a syntax tree for the sentence ‘The horse raced past the barn stopped under
the big umbrella in the hand of the man with a telescope’.  10%. . -




